SOME GENERALIZATIONS OF MULTIPLE LAGUERRE POLYNOMIALS VIA RODRIGUES FORMULA

M. ALI ÖZARSLAN AND CEM KAANOĞLU

ABSTRACT. This paper aims to provide systematic investigation of the family of polynomials generated by the Rodrigues' formulas

$$K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p) = (-1)^{n_1+n_2} e^{px^k} \left[\prod_{j=1}^2 x^{-\alpha_j} \frac{d^{n_j}}{dx^{n_j}} x^{\alpha_j+n_j} \right] e^{-px^k},$$

and

$$M_{n_1, n_2}^{(\alpha_0, p_1, p_2)}(x, k) = \frac{(-1)^{n_1 + n_2}}{p_1^{n_1} p_2^{n_2}} x^{-\alpha_0} \left[\prod_{j=1}^2 e^{p_j x^k} \frac{d^{n_j}}{dx^{n_j}} e^{-p_j x^k} \right] x^{n_1 + n_2 + \alpha_0},$$

which include the multiple Laguerre I and the multiple Laguerre II polynomials, respectively. The explicit forms, certain operational formulas involving these polynomials with some applications and linear generating functions for $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$ and $M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)$ are obtained.

1. Introduction

Multiple orthogonal polynomials, which are the extension of the orthogonal polynomials have been an active research field during the last few decades. Multiple orthogonal polynomials are closely related to Hermite-Pade approximation of a system of Markov functions [12]. These polynomials have some general properties such as Rodrigues' formula and generating functions.

There are several attempts to generalize the known special functions via corresponding Rodrigues' formula [4],[5],[11],[14],[16] and new papers constantly coming out related with these generalizations [3],[6],[7],[8],[15].

Our starting point in this paper is to obtain some properties of multiple Laguerre I and multiple Laguerre I polynomials [2]. In obtaining these

Key words and phrases. Rodrigues' formula, Operational formula, Generating function, Multiple Laguerre polynomials.

²⁰⁰⁰ Mathematics Subject Classification. 33C45, 42C05.

properties we consider the following general family of polynomials:

$$(1) \quad (-1)^{n_1+n_2} K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p) = e^{px^k} \left[\prod_{j=1}^2 x^{-\alpha_j} \frac{d^{n_j}}{dx^{n_j}} x^{\alpha_j+n_j} \right] e^{-px^k}$$

and

$$(2) \quad M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k) = \frac{(-1)^{n_1+n_2}}{p_1^{n_1}p_2^{n_2}}x^{-\alpha_0} \left[\prod_{j=1}^2 e^{p_j x^k} \frac{d^{n_j}}{dx^{n_j}} e^{-p_j x^k}\right] x^{n_1+n_2+\alpha_0}$$

where $p, p_1, p_2 > 0$ with $p_1 \neq p_2$; $\alpha_0, \alpha_1, \alpha_2 > -1$ with $\alpha_1 \neq \alpha_2$ and k is a natural number. It should be noticed that, in the particular case k = 1 and p = 1, definition (1) gives the Rodrigues' formula of the multiple Laguerre I polynomials and the case k = 1 reduces (2) to the Rodrigues' formula of the multiple Laguerre II polynomials [2].

Except for the appropriate choices of the parameters, it is not easy to show that the polynomials defined by (1) and (2) satisfy multiple orthogonality properties in the sense of the classical definition [1]. On the other hand, they may satisfy a kind of multiple biorthogonality which is an open problem.

Recently, two classes of multiple orthogonal polynomials were discussed in [10], where J. Coussement and W. Van Assche obtained a linear differential equation for them by combining the lowering operator with the raising operator. Obtaining a differential equation for certain classes of polynomials including the polynomials defined by (1) and (2), is another open problem which is related with the above mentioned open problem.

We organize the paper as follows. In section 2, we obtain the explicit forms of the polynomials as

$$K_{n_{1},n_{2}}^{(\alpha_{1},\alpha_{2})}(x,k,p) = (-1)^{n_{1}+n_{2}}n_{1}!n_{2}!\sum_{i=0}^{n_{2}}\sum_{j=0}^{i}\frac{p^{i}}{i!}(-1)^{j}\binom{i}{j}$$

$$\cdot\binom{\alpha_{2}+n_{2}+kj}{n_{2}}x^{ki}\sum_{l=0}^{n_{1}}\sum_{h=0}^{l}\frac{p^{l}}{l!}(-1)^{h}\binom{l}{h}\binom{\alpha_{1}+n_{1}+ki+kh}{n_{1}}x^{kl},$$

and

$$M_{n_{1},n_{2}}^{(\alpha_{0},p_{1},p_{2})}(x,k) = \frac{(-1)^{n_{1}+n_{2}}n_{1}!n_{2}!}{p_{1}^{n_{1}}p_{2}^{n_{2}}} \sum_{i=0}^{i} \sum_{j=0}^{i} \frac{p_{2}^{i}}{i!} (-1)^{j} \binom{i}{j}$$

$$\cdot \binom{\alpha_{0}+n_{1}+n_{2}+kj}{n_{2}} x^{ki} \sum_{l=0}^{n_{1}} \sum_{h=0}^{l} \frac{p_{1}^{l}}{l!} (-1)^{h} \binom{l}{h} \binom{\alpha_{0}+n_{1}+ki+kh}{n_{1}} x^{kl}$$

which shows that the polynomials are of exact degree $k(n_1 + n_2)$. In section 3, we obtain some operational formulas involving the polynomials

 $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$ and $M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)$ and give some applications to these results. In section 4, linear generating functions are obtained for the polynomials defined by (1) and (2).

2. EXPLICIT EXPRESSION OF THE POLYNOMIALS

Chatterjea [5], defined the generalized Laguerre polynomials via Rodrigues' formula by

(3)
$$T_{kn}^{(\alpha)}(x,p) = \frac{1}{n!} x^{-\alpha} e^{px^k} D^n(x^{\alpha+n} e^{-px^k}); \quad p,k \in \mathbb{N},$$

and obtained its explicit formula as

(4)
$$T_{kn}^{(\alpha)}(x,p) = \sum_{i=0}^{n} \frac{p^{i}}{i!} x^{ki} \sum_{j=0}^{i} (-1)^{j} {i \choose j} {\alpha+n+kj \choose n}.$$

In obtaining the explicit form of the polynomials $T_{kn}^{(\alpha)}(x,p)$, he used the following generalized rule for the derivative of f(z) [13],

(5)
$$D_z^s(f(z)) = \sum_{k=0}^s \frac{(-1)^k}{k!} D_z^k f(z) \sum_{j=0}^k (-1)^j \binom{k}{j} z^{k-j} D_z^s z^j,$$

where
$$D_z^s(f(z)) = \frac{d^s(f(z))}{dz^s}$$
.
Now, using (1), (3) and (4), we get

$$(-1)^{n_{1}+n_{2}}K_{n_{1},n_{2}}^{(\alpha_{1},\alpha_{2})}(x,k,p) = e^{px^{k}} \left[x^{-\alpha_{1}} \frac{d^{n_{1}}}{dx^{n_{1}}} x^{\alpha_{1}+n_{1}}\right] \left[x^{-\alpha_{2}} \frac{d^{n_{2}}}{dx^{n_{2}}} x^{\alpha_{2}+n_{2}} e^{-px^{k}}\right]$$

$$= n_{2}! e^{px^{k}} \left[x^{-\alpha_{1}} \frac{d^{n_{1}}}{dx^{n_{1}}} x^{\alpha_{1}+n_{1}} e^{-px^{k}} T_{kn_{2}}^{(\alpha_{2})}(x,p)\right]$$

$$= n_{2}! e^{px^{k}} x^{-\alpha_{1}} \sum_{i=0}^{n_{2}} \frac{p^{i}}{i!} \sum_{j=0}^{i} (-1)^{j} \binom{i}{j} \binom{\alpha_{2}+n_{2}+kj}{n_{2}} \frac{d^{n_{1}}}{dx^{n_{1}}} (x^{\alpha_{1}+n_{1}+ki} e^{-px^{k}})$$

$$= n_{2}! e^{px^{k}} x^{-\alpha_{1}} \sum_{i=0}^{n_{2}} \frac{p^{i}}{i!} \sum_{j=0}^{i} (-1)^{j} \binom{i}{j} \binom{\alpha_{2}+n_{2}+kj}{n_{2}}$$

$$\cdot \sum_{i=0}^{n_{1}} \binom{n_{1}}{s} D^{n_{1}-s} (x^{\alpha_{1}+n_{1}+ki}) D^{s} (e^{-px^{k}}).$$

Taking into account (5), we obtain

$$(-1)^{n_{1}+n_{2}}K_{n_{1},n_{2}}^{(\alpha_{1},\alpha_{2})}(x,k,p) = n_{1}!n_{2}!\sum_{i=0}^{n_{2}}\sum_{j=0}^{i}\frac{p^{i}}{i!}(-1)^{j}\binom{i}{j}\binom{\alpha_{2}+n_{2}+kj}{n_{2}}x^{ki}$$

$$\cdot\sum_{s=0}^{n_{1}}\binom{\alpha_{1}+n_{1}+ki}{n_{1}-s}\sum_{l=0}^{s}\frac{p^{l}}{l!}\sum_{h=0}^{l}(-1)^{h}\binom{l}{h}\binom{kh}{s}x^{kl}$$

$$= n_{1}!n_{2}!\sum_{i=0}^{n_{2}}\sum_{j=0}^{i}\frac{p^{i}}{i!}(-1)^{j}\binom{i}{j}\binom{\alpha_{2}+n_{2}+kj}{n_{2}}x^{ki}$$

$$\cdot\sum_{l=0}^{n_{1}}\frac{p^{l}}{l!}x^{kl}\sum_{h=0}^{l}(-1)^{h}\binom{l}{h}\sum_{s=l}^{n_{1}}\binom{\alpha_{1}+n_{1}+ki}{n_{1}-s}\binom{kh}{s}.$$

On the other hand, since (see [5])

$$\sum_{h=0}^{l} (-1)^h \binom{l}{h} \sum_{s=0}^{l-1} \binom{\alpha_1 + n_1 + ki}{n_1 - s} \binom{kh}{s} = 0,$$

we can state the following theorem, which gives the explicit form of the polynomials defined by (1).

Theorem 2.1. The family of polynomials $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$ has the explicit expression

$$K_{n_{1},n_{2}}^{(\alpha_{1},\alpha_{2})}(x,k,p) = (-1)^{n_{1}+n_{2}}n_{1}!n_{2}!\sum_{i=0}^{n_{2}}\sum_{j=0}^{i}\frac{p^{i}}{i!}(-1)^{j}\binom{i}{j}$$

$$\cdot\binom{\alpha_{2}+n_{2}+kj}{n_{2}}x^{ki}\sum_{l=0}^{n_{1}}\sum_{h=0}^{l}\frac{p^{l}}{l!}(-1)^{h}\binom{l}{h}\binom{\alpha_{1}+n_{1}+ki+kh}{n_{1}}x^{kl}.$$

In a similar way, it can be obtained that

Theorem 2.2. The family of polynomials $M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)$ defined by (2) has the explicit expression

$$\begin{split} M_{n_1,n_2}^{(\alpha_0,p_1,\cdot p_2)}(x,k) &= \frac{(-1)^{n_1+n_2}n_1!n_2!}{p_1^{n_1}p_2^{n_2}} \sum_{i=0}^{n_2} \sum_{j=0}^{i} \frac{p_2^i}{i!} (-1)^j \binom{i}{j} \\ \cdot \binom{\alpha_0+n_1+n_2+kj}{n_2} x^{ki} \sum_{l=0}^{n_1} \sum_{h=0}^{l} \frac{p_1^l}{l!} (-1)^h \binom{l}{h} \binom{\alpha_0+n_1+ki+kh}{n_1} x^{kl}. \end{split}$$

Remark 2.1. Theorem 2.1 and Theorem 2.2 state that the polynomials $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$ and $M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)$ are of exact degrees $k(n_1+n_2)$.

3. OPERATIONAL FORMULAS

In this section we obtain some operational formulas for the polynomials defined by (1) and (2). We should note that some operational formulas have recently been given in [9].

In [5], Chatterjea obtained the operational formula

(6)
$$x^{-\alpha} e^{px^k} D^n (x^{\alpha+n} e^{-px^k} Y) = \prod_{j=1}^n (xD - pkx^k + \alpha + j) Y$$

where Y is any sufficiently differentiable function of x. Now considering

$$e^{px^{k}} \left[\prod_{j=1}^{2} x^{-\alpha_{j}} \frac{d^{n_{j}}}{dx^{n_{j}}} x^{\alpha_{j}+n_{j}} \right] e^{-px^{k}} Y$$

$$= e^{px^{k}} x^{-\alpha_{1}} \frac{d^{n_{1}}}{dx^{n_{1}}} x^{\alpha_{1}+n_{1}} x^{-\alpha_{2}} \frac{d^{n_{2}}}{dx^{n_{2}}} x^{\alpha_{2}+n_{2}} e^{-px^{k}} Y$$

and using (6), we get

(7)
$$e^{px^{k}} \left[x^{-\alpha_{1}} \frac{d^{n_{1}}}{dx^{n_{1}}} x^{\alpha_{1}+n_{1}} x^{-\alpha_{2}} \frac{d^{n_{2}}}{dx^{n_{2}}} x^{\alpha_{2}+n_{2}} e^{-px^{k}} Y \right]$$

$$= \prod_{i=1}^{n_{1}} (xD - pkx^{k} + \alpha_{1} + i) \prod_{j=1}^{n_{2}} (xD - pkx^{k} + \alpha_{2} + j) Y.$$

Recalling Chatterjea's result [5]

$$D^{n}(x^{\alpha+n}e^{-px^{k}}Y) = \sum_{r=0}^{n} \binom{n}{r} D^{n-r}(x^{\alpha+n}e^{-px^{k}}) D^{r}Y$$
$$= n!x^{\alpha}e^{-px^{k}} \sum_{r=0}^{n} \frac{x^{r}}{r!} T_{k(n-r)}^{(\alpha+r)}(x,p) D^{r}(Y)$$

where the polynomials $T_{kn}^{(\alpha)}(x,p)$ be defined by (3) and (4).

Considering (7), we can write

$$\begin{split} & \left[\frac{d^{n_1}}{dx^{n_1}}x^{\alpha_1+n_1}\right]\left[x^{-\alpha_2}\frac{d^{n_2}}{dx^{n_2}}x^{\alpha_2+n_2}e^{-px^k}Y\right] \\ &= n_2! \sum_{r=0}^{n_2} \frac{d^{n_1}}{dx^{n_1}} \left(\frac{x^{\alpha_1+n_1+r}}{r!}e^{-px^k}T_{k(n_2-r)}^{(\alpha_2+r)}(x,p)D^rY\right) \\ &= n_2! \sum_{r=0}^{n_2} \sum_{i=0}^{n_2-r} \sum_{j=0}^{i} \frac{p^i}{i!r!} (-1)^j \binom{i}{j} \binom{\alpha_2+n_2+kj}{n_2-r} \\ & \cdot \frac{d^{n_1}}{dx^{n_1}} (x^{\alpha_1+n_1+ki+r}e^{-px^k}D^rY) \\ &= n_2! n_1! x^{\alpha_1} e^{-px^k} \sum_{r=0}^{n_2} \sum_{i=0}^{n_2-r} \sum_{j=0}^{i} \frac{p^i}{i!r!} (-1)^j \binom{i}{j} \binom{\alpha_2+n_2+kj}{n_2-r} x^{ki+r} \\ & \cdot \sum_{s=0}^{n_1} \frac{x^s}{s!} T_{k(n_1-s)}^{(\alpha_1+ki+r+s)}(x,p) D^s(D^rY) \\ &= n_2! n_1! x^{\alpha_1} e^{-px^k} \sum_{r=0}^{n_2} \frac{x^r}{r!} \sum_{s=0}^{n_1} \frac{x^s}{s!} \sum_{i=0}^{n_2-r} \sum_{j=0}^{i} \frac{p^i}{i!} (-1)^j \binom{i}{j} \binom{\alpha_2+n_2+kj}{n_2-r} x^{ki} \\ & \cdot \sum_{l=0}^{n_1-s} \sum_{h=0}^{l} \frac{p^l}{l!} (-1)^h \binom{l}{h} \binom{\alpha_1+n_1+ki+kh+r}{n_1-s} x^{kl} D^s(D^rY). \end{split}$$

By the explicit form of $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$, we obtain

$$\left[\frac{d^{n_1}}{dx^{n_1}}x^{\alpha_1+n_1}\right]\left[x^{-\alpha_2}\frac{d^{n_2}}{dx^{n_2}}x^{\alpha_2+n_2}e^{-px^k}Y\right] = n_2!n_1!x^{\alpha_1}e^{-px^k}$$

$$\cdot \sum_{r=0}^{n_2} \frac{x^r}{r!} \sum_{s=0}^{n_1} \frac{x^s}{s!} \frac{(-1)^{n_1-s+n_2-r}}{(n_1-s)!(n_2-r)!} K_{n_1-s,n_2-r}^{(\alpha_1+s+r,\alpha_2+r)}(x,k,p)D^s(D^rY).$$

Hence

(8)
$$\frac{x^{-\alpha_1}e^{px^k}}{n_1!n_2!} \left[\frac{d^{n_1}}{dx^{n_1}} x^{\alpha_1+n_1} \right] \left[x^{-\alpha_2} \frac{d^{n_2}}{dx^{n_2}} x^{\alpha_2+n_2} e^{-px^k} Y \right]$$

$$= \sum_{r=0}^{n_2} \frac{x^r}{r!} \sum_{s=0}^{n_1} \frac{x^s}{s!} \frac{(-1)^{n_1-s+n_2-r}}{(n_1-s)!(n_2-r)!} K_{n_1-s,n_2-r}^{(\alpha_1+s+r,\alpha_2+r)}(x,k,p) D^s(D^r Y).$$

Then by (7) and (8), we get the following general operational formula

(9)
$$\prod_{i=1}^{n_1} (xD - pkx^k + \alpha_1 + i) \prod_{j=1}^{n_2} (xD - pkx^k + \alpha_2 + j)Y$$

$$= n_1! n_2! \sum_{r=0}^{n_2} \frac{x^r}{r!} \sum_{s=0}^{n_1} \frac{x^s}{s!} \frac{(-1)^{n_1 - s + n_2 - r}}{(n_1 - s)!(n_2 - r)!} K_{n_1 - s, n_2 - r}^{(\alpha_1 + s + r, \alpha_2 + r)}(x, k, p) D^s(D^r Y).$$

By appropriately choosing the differentiable function Y one can obtain various operational formulas from (9). For instance, setting Y = 1 in (9) we can state the following theorem.

Theorem 3.1. For $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$, we have (10)

$$(-1)^{n_1+n_2}K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p) = \prod_{i=1}^{n_1}(xD-pkx^k+\alpha_1+i)\prod_{i=1}^{n_2}(xD-pkx^k+\alpha_2+j)1.$$

In fact Theorem 3.1 can be obtained directly from the equation (6). Letting k = 1 and p = 1 in (9), we have the following result.

Corollary 3.2. For the multiple Laguerre I polynomials, we have

$$\prod_{i=1}^{n_1} (xD - x + \alpha_1 + i) \prod_{j=1}^{n_2} (xD - x + \alpha_2 + j) Y$$

$$= n_1! n_2! \sum_{r=0}^{n_2} \frac{x^r}{r!} \sum_{s=0}^{n_1} \frac{x^s}{s!} \frac{(-1)^{n_1 - s + n_2 - r}}{(n_1 - s)!(n_2 - r)!} L_{n_1 - s, n_2 - r}^{(\alpha_1 + s + r, \alpha_2 + r)}(x) D^s(D^r Y).$$

Furthermore letting Y = 1 in the above Corollary, we get

Corollary 3.3. For the multiple Laguerre I polynomials, we have

$$(-1)^{n_1+n_2}L_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x) = \prod_{i=1}^{n_1} (xD - x + \alpha_1 + i) \prod_{j=1}^{n_2} (xD - x + \alpha_2 + j)1.$$

Following the same procedure which is used to obtain operational formulas for the polynomials $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$, we have the following analogous result of (9) for the polynomials $M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)$:

(11)
$$\prod_{i=1}^{n_1} (xD - p_1kx^k + \alpha_0 + i) \prod_{j=1}^{n_2} (xD - p_2kx^k + n_1 + \alpha_0 + j)Y$$

$$= n_1! n_2! \sum_{r=0}^{n_2} \frac{x^r}{r!} \sum_{s=0}^{n_1} \frac{x^s}{s!} \frac{(-1)^{n_1 - s + n_2 - r} p_1^{n_1 - s} p_2^{n_2 - r}}{(n_1 - s)! (n_2 - r)!} \cdot M_{n_1 - s, n_2 - r}^{(\alpha_0 + r + s, p_1, p_2)}(x, k) D^s(D^r Y),$$

where Y is any sufficiently differentiable function of x. Setting Y = 1 in (11) we can state the following theorem.

Theorem 3.4. For $M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)$, we have

(12)
$$\prod_{i=1}^{n_1} (xD - p_1kx^k + \alpha_0 + i) \prod_{j=1}^{n_2} (xD - p_2kx^k + n_1 + \alpha_0 + j) 1$$
$$= (-1)^{n_1 + n_2} p_1^{n_1} p_2^{n_2} M_{n_1, n_2}^{(\alpha_0, p_1, p_2)}(x, k).$$

Now letting k = 1 in (11), we conclude that

Corollary 3.5. For the multiple Laguerre II polynomials, we have

$$\prod_{i=1}^{n_1} (xD - p_1 x + \alpha_0 + i) \prod_{j=1}^{n_2} (xD - p_2 x + n_1 + \alpha_0 + j) Y$$

$$= n_1! n_2! \sum_{r=0}^{n_2} \frac{x^r}{r!} \sum_{s=0}^{n_1} \frac{x^s}{s!} \frac{(-1)^{n_1 - s + n_2 - r} p_1^{n_1 - s} p_2^{n_2 - r}}{(n_1 - s)! (n_2 - r)!} \cdot L_{n_1 - s, n_2 - r}^{(\alpha_0 + r + s, p_1, p_2)}(x) D^s(D^r Y).$$

Finally, taking Y = 1 in the above corollary, we get

Corollary 3.6. For the multiple Laguerre II polynomials, we have

$$(-1)^{n_1+n_2} p_1^{n_1} p_2^{n_2} L_{n_1, n_2}^{(\alpha_0, p_1, p_2)}(x)$$

$$= \prod_{i=1}^{n_1} (xD - p_1 x + \alpha_0 + i) \prod_{j=1}^{n_2} (xD - p_2 x + n_1 + \alpha_0 + j) 1.$$

4. Some Applications Of The Operational Formulas

In this section, by use of the operational formulas obtained in the above section, we are aimed to obtain some recurrence relations and useful formulas for the polynomials $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$ and $M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)$ defined by (1) and (2). We start with the following theorem:

Theorem 4.1. For $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$, we have

$$K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p) = -(xD - pkx^k + \alpha_1 + n_1)K_{n_1-1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p).$$

Proof. Writing (10) in the form

$$(-1)^{n_1+n_2} K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p) = (xD - pkx^k + \alpha_1 + n_1)$$

$$\cdot \prod_{i=1}^{n_1-1} (xD - pkx^k + \alpha_1 + i) \prod_{j=1}^{n_2} (xD - pkx^k + \alpha_2 + j)1,$$

we get the desired result.

The particular case k = 1 and p = 1 in the above theorem gives the following recurrence relation for the multiple Laguerre I polynomials:

Corollary 4.2. For the multiple Laguerre I polynomials, we have

$$L_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x) = -(xD - x + \alpha_1 + n_1)L_{n_1-1,n_2}^{(\alpha_1,\alpha_2)}(x).$$

Another application of the formula (10) is the following:

Theorem 4.3. The recurrence formula

$$\begin{split} &(-1)^{n_1+m_1}K_{n_1+m_1,n_2+m_2}^{(\alpha_1,\alpha_2)}(x,k,p)\\ &=\prod_{i=1}^{m_1}(xD-pkx^k+\alpha_1+n_1+i)\prod_{l=1}^{n_1}(xD-pkx^k+\alpha_1+l)K_{m_2,n_2}^{(n_2+\alpha_2,\alpha_2)}(x,k,p) \end{split}$$

holds for $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$.

Proof. Replacing n_1 by $n_1 + m_1$ and n_2 by $n_2 + m_2$ in (10), we can write

$$\begin{split} &(-1)^{n_1+m_1+n_2+m_2}K_{n_1+m_1,n_2+m_2}^{(\alpha_1,\alpha_2)}(x,k,p)\\ &=\prod_{i=1}^{n_1+m_1}(xD-pkx^k+\alpha_1+i)\prod_{j=1}^{n_2+m_2}(xD-pkx^k+\alpha_2+j)\\ &=\prod_{i=1}^{m_1}(xD-pkx^k+\alpha_1+n_1+i)\prod_{l=1}^{n_1}(xD-pkx^k+\alpha_1+l)\\ &\cdot\prod_{j=1}^{m_2}(xD-pkx^k+\alpha_2+n_2+j)\prod_{h=1}^{n_2}(xD-pkx^k+\alpha_2+h)\\ &=(-1)^{m_2+n_2}\prod_{i=1}^{m_1}(xD-pkx^k+\alpha_1+n_1+i)\\ &\cdot\prod_{l=1}^{n_1}(xD-pkx^k+\alpha_1+l)K_{m_2,n_2}^{(n_2+\alpha_2,\alpha_2)}(x,k,p). \end{split}$$

Whence the result.

Corollary 4.4. For the multiple Laguerre I polynomials, we have

$$(-1)^{n_1+m_1} L_{n_1+m_1,n_2+m_2}^{(\alpha_1,\alpha_2)}(x)$$

$$= \prod_{i=1}^{m_1} (xD - x + \alpha_1 + n_1 + i) \prod_{l=1}^{n_1} (xD - x + \alpha_1 + l) L_{m_2,n_2}^{(n_2+\alpha_2,\alpha_2)}(x).$$

On the other hand, considering (9) with $Y = K_{m_2,n_2}^{(n_2+\alpha_2,\alpha_2)}(x,k,p)$ in (10) we get

Corollary 4.5. For $K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)$, we have

$$\begin{split} &K_{n_1+m_1,n_2+m_2}^{(\alpha_1,\alpha_2)}(x,k,p) \\ &= m_1! n_1! \sum_{r=0}^{n_1} \frac{x^r}{r!} \sum_{s=0}^{m_1} \frac{x^s}{s!} \frac{(-1)^{-(s+r)}}{(m_1-s)!(n_1-r)!} K_{m_1-s,n_1-r}^{(\alpha_1+n_1+s+r,\alpha_1+r)}(x,k,p) \\ &\cdot D^{s+r} (K_{m_2,n_2}^{(\alpha_2+n_2,\alpha_2)}(x,k,p)). \end{split}$$

Corollary 4.6. For the multiple Laguerre I polynomials, we have

$$\begin{split} &L_{n_1+m_1,n_2+m_2}^{(\alpha_1,\alpha_2)}(x)\\ &= m_1! n_1! \sum_{r=0}^{n_1} \frac{x^r}{r!} \sum_{s=0}^{m_1} \frac{x^s}{s!} \frac{(-1)^{-(s+r)}}{(m_1-s)!(n_1-r)!} L_{m_1-s,n_1-r}^{(\alpha_1+n_1+s+r,\alpha_1+r)}(x)\\ &\cdot D^{s+r}(L_{m_2-n_2}^{(\alpha_2+n_2,\alpha_2)}(x)). \end{split}$$

Before leaving this section, it should be noticed that similar formulas for the polynomials $M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)$ can be obtained in a similar manner.

5. GENERATING FUNCTIONS

In this section we obtain generating functions of a class of polynomials defined by (1) and (2) by using Chatterjea's result [5]

(13)
$$(1-t)^{-\alpha-1}e^{px^k\left(1-(1-t)^{-k}\right)} = \sum_{n=0}^{\infty} T_{kn}^{(\alpha)}(x,p)t^n,$$

where the polynomials $T_{kn}^{(\alpha)}(x,p)$ are the class of polynomials defined by (3). We start with the following theorem:

Theorem 5.1. Let the polynomials $\left\{K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p)\right\}$ be defined by (1).

Then we have

$$G_{k,p}^{(\alpha_1,\alpha_2)}(x,t_1,t_2) = \sum_{n_2=0}^{\infty} \sum_{n_1=0}^{\infty} K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p) \frac{t_1^{n_1}}{n_1!} \frac{t_2^{n_2}}{n_2!},$$

where

$$G_{k,p}^{(\alpha_1,\alpha_2)}(x,t_1,t_2) = (1+t_1)^{-\alpha_1-1}(1+t_2)^{-\alpha_2-1}e^{px^k(1-v(t_1)v(t_2))}$$

and
$$v(t) = (1+t)^{-k}$$
.

Proof. Considering (3) in (1), we can write

$$\begin{split} &\sum_{n_1=0}^{\infty} K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p) \frac{t_1^{n_1}}{n_1!} \\ &= (-1)^{n_2} n_2! x^{-\alpha_1} e^{px^k} \sum_{n_1=0}^{\infty} (-1)^{n_1} \frac{d^{n_1}}{dx^{n_1}} (x^{\alpha_1+n_1} e^{-px^k} T_{kn_2}^{(\alpha_2)}(x,p)) \frac{t_1^{n_1}}{n_1!} \\ &= (-1)^{n_2} n_2! x^{-\alpha_1} e^{px^k} \frac{1}{2\pi i} \oint\limits_{C_1} \frac{z^{\alpha_1} e^{-pz^k} T_{kn_2}^{(\alpha_2)}(z,p)}{(z-x)} \sum_{n_1=0}^{\infty} \frac{(-zt_1)^{n_1}}{(z-x)^{n_1}} dz \\ &= \frac{(-1)^{n_2} n_2! x^{-\alpha_1} e^{px^k}}{1+t_1} \frac{1}{2\pi i} \oint\limits_{C_2} \frac{z^{\alpha_1} e^{-pz^k} T_{kn_2}^{(\alpha_2)}(z,p)}{z-\frac{x}{1+t_1}} dz \\ &= \frac{(-1)^{n_2} n_2! e^{px^k}}{(1+t_1)^{\alpha_1+1}} e^{-p(\frac{x}{1+t_1})^k} T_{kn_2}^{(\alpha_2)}(\frac{x}{1+t_1},p), \end{split}$$

where C_1 is a circle in the complex z-plane, cut along the negative real axis, (centered at z=x) with radius $\varepsilon>0$, which is described in the positive direction (counter-clockwise). where the closed contour C_2 in the complex η -plane, cut along the negative real axis, is a circle (centered at $\eta=\frac{x}{1+t_1}$) of sufficiently small radius. Thus

$$\sum_{n_2,n_1=0}^{\infty} K_{n_1,n_2}^{(\alpha_1,\alpha_2)}(x,k,p) \frac{t_1^{n_1}}{n_1!} \frac{t_2^{n_2}}{n_2!} = \frac{e^{px^k} e^{-p(\frac{x}{1+t_1})^k}}{(1+t_1)^{\alpha_1+1}} \sum_{n_2=0}^{\infty} (-1)^{n_2} T_{kn_2}^{(\alpha_2)}(\frac{x}{1+t_1},p) t_2^{n_2}.$$

Using (13) in the above equality, the proof is completed.

In a similar way, we can state the following theorem.

Theorem 5.2. Let the polynomials $\left\{M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k)\right\}$ be defined by (3).

Then we have

$$H_k^{(\alpha_0,p_1,p_2)}(x,t_1,t_2) = \sum_{n_1=0}^{\infty} \sum_{n_2=0}^{\infty} M_{n_1,n_2}^{(\alpha_0,p_1,p_2)}(x,k) \frac{t_1^{n_1}}{n_1!} \frac{t_2^{n_2}}{n_2!},$$

where

$$\begin{array}{lcl} H_k^{(\alpha_0,p_1,p_2)}(x,t_1,t_2) & = & (1+\frac{t_1}{p_1})^{-\alpha_0-1}(1+\frac{t_2}{p_2})^{-\alpha_0-1-n_1} \\ & \cdot e^{p_1x^kw(\frac{t_1}{p_1})}e^{p_2x^kw(\frac{t_2}{p_2})(1-w(\frac{t_1}{p_1}))} \end{array}$$

and $w(t) = 1 - (1+t)^{-k}$.

REFERENCES

- A.I. Aptekarev, Multiple orthogonal polynomials, J. Comput. Appl. Math. 99 (1998), no.1-2, 423-447.
- [2] W.V. Assche, E. Coussement, Some classical multiple orthogonal polynomials, J. Comput. Appl. Math. 127 (2001), 317-347.
- [3] L. Carlitz, A note on certain biorthogonal polynomials, Pacific J. Math. Vol. 24, No. 3, (1968), 425-430.
- [4] S.K. Chatterjea, A generalization of Laguerre polynomials, Collectanea, Mathematica 15 (1963), 285-292.
- [5] S.K. Chatterjea, On a generalization of Laguerre polynomials, Rendiconti del Seminario Matematico della Universitá di Padova, tome 34(1964), 180-190.
- [6] K.Y. Chen, A new summation identity for the Srivastava-Singhal polynomials, J. Math. Anal. Appl. 298 (2004) 411-417.
- [7] K.Y. Chen, C.J. Chyan and H. M. Srivastava, Some polynomial systems Associated with a certain family of differential operators, J. Math. Anal. Appl. 268 (2002), 344-377.
- [8] K.Y. Chen and H.M. Srivastava, A limit relationship between Laguerre and Hermite polynomials, Integral Transforms and Special Functions Vol. 16 (2005), No. 1, 75– 80
- [9] R.D. Costin, Matrix-valued polynomials generated by the scalar-type Rodrigues' formula, J. Approx. Theory, 161 (2009), no.2, 693-705.
- [10] J. Coussement and W. Van Assche, Differential equations for multiple orthogonal polynomials with respect to classical weights; raising and lowering operators, J. Phys. A 39 (2006), no. 13, 3311-3318.
- [11] H.W. Gould and A.T. Hopper, Operational formulas connected with two generalization of Hermite polynomials, Duke Math. J. 29 (1962), 51-64.
- [12] E.M. Nikishin and V.N. Sorokin, Rational approximation and orthogonality, Translations of Mathematical Monographs (Providence, RI: American Mathematical Society), (1991), R192.
- [13] I.J. Schwatt, An introduction to the operations with series, Philadelphia, 1924.
- [14] J.P. Singhal, C.M. Joshi, On the unification of generalized Hermite and Laguerre polynomials. Rev. Mat. Hisp.-Amer. (4) 42 (1982), no. 1-3, 82-89.
- [15] H.M. Srivastava, Some families of generating functions associated with the Stirling numbers of the second kind, J. Math. Anal. Appl. 251 (2000), 752-769.
- [16] H.M. Srivastava and J.P. Singhal, A class of polynomials defined by generalized Rodrigues' formula, Ann. Mat. Pura Appl. (4) 90 (1971), 75-85.

Mehmet Ali Özarslan

Eastern Mediterranean University,

Faculty of Arts and Sciences, Department of Mathematics,

Gazimagusa, Mersin 10, Turkey

Mail Address: mehmetali.ozarslan@emu.edu.tr

Cem Kaanoğlu

Cyprus International University,

Faculty of Engineering,

Lefkosa, Mersin 10, Turkey

E-Mail Address: kaanoglu@ciu.edu.tr